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Instructions for Candidates

1.  Write your Roll No. on the top immediately on receipt
of this question paper.

2. Answer any 5 questions.

3. All questions carry equal marks, 15 Marks each.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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Evaluate the Nehru-Mahalanobis strategy adopted by
India in the early phase of its development planning
and its role in transforming its stagnant colonial

conclave into an economy capable of sustained growth.

(6+9)
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A distinguishing feature of the high growth era
(2003-08) was the increase in private corporate
savings. Do you agree? Substantiate your answer.
How crucial is the role of investment in infrastructure,

if India is to sustain a high rate of economic growth

in future? (8+7)
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“A democratic country can hardly want to become

t-California and part Sub-Saharan Africa.” In light
led to tap

par
of the above statement explain how India fai
the constructive roles of state and market for its

growth and development? (15)
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Can India reap the benefits of the Demographic
Dividend? Explain. What does the available research
indicate regarding a comparison between China & India
on the relationship between population dynamics and
economic growth? (6+9)
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“Despite India’s-impressive economic performance
after the introduction of economic reforms in the
1990s, progress in advancing the health status of
Indians has been slow and uneven”. Do you agree?
Explain your answer focusing on inequities in access

(15)

to health services in India.
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What are the different methodologies adopted by the
Indian government to measure poverty. Explain how
the process of urban economic growth which has
brought significant gains to rural as well as urban

poor during the post reform period? (6+9)
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7. What do you mean by jobless growt

m
2000 and its impact on job creation.
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h? Explain the
ket since 1999-
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to transform the
lives of people the way China di

decades?
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